Spoutnik (Questions)

1)

a D54 Sud Ouest Nord Est
v R76 1 24
¢ VI72 ?

& V65

2)

a AV65 Sud QOuest Nord Est
v 43 1 2v
¢ DV5 ?

& V1082

3)

A 653 Sud Ouest Nord Est
v RV98 1a 2v
¢ D4 ? - X -
* A876 ?

4)

A R5 Sud Ouest Nord Est
v AV6 1a 3%
¢ AD765 ? - 3SA -
& 987 ?

5)

a 85 Sud Ouest Nord Est
v D4 1l 34
¢ ARV76 ? - de -
% D1082 ?

6)

a 982 Sud Ouest Nord Est
v RD76 le 3%
¢ AV876 ? - 3a -
® 2 ?

7)

a R42 Sud Ouest Nord Est
v V982 le 3e
¢ 8 ?

& DV865

8)

a A108 Sud Ouest Nord Est
v D3 1w 3¢
¢ RD5 ?

% V9872




